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A single obegr\ ation, x, is taken from é binomial distribution B(10, p) and a value of 5 is obtained.
Use this observation to test Hy: p = 0.25 against H,: p > 0.25 using a 5% significance level.
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A test statistic has a distribution B(10, p). Given that Hy: p = 0.2, H,: p > 0.2, find the critical
region for the test using a 5% significance level.
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A random variable has a distribution B(20, p). A single observation is used to test Hy: p = 0.15
against H,: p < 0.15. Using a 5% level of significance, find the critical region of this test.
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A random variable has distribution B(20, p). A single observation is used to test Hy: p = 0.4

against H:p#04. T L& ok .. twe ordical ¢

a Using the 5% level of significance, find the critical region of this test. (3 marks)

b Write down the actual significance level of the test. (1 mark)
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